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I 2 mwn: range of inclusion for one group of 2"yn
a  3’vm extends to range of the shepherd’s grazing — 16 Roman mile (=14 mile) radius
i Source: v.1-Rabbis estimated the distance as the most that the shepherd’s vision can reach
b If: there were 32 RM between them — they are not joined
i Challenge: implication — if there were less than 32 RM between them, they are 9710%n — against 11pw of 16 RM
ii  Answer: 32 taught per next clause — if there were sheep in the middle...
¢ But if: he had sheep in the middle (equidistant — 16 RM from each group) — he brings them together and tithes
i Question: how many sheep needed in the middle to combine them?
1 275 ateach apogee and 5 in the middle; each “extreme” 5 could join the middle 5 to make 10
2 Sxipw even 1in the middle; we imagine the shepherd in the middle (with sole lamb) and v. 1 applies
(@) Challenge (to 27): %1 Xnavn — if he had 5 in 7710 793 and 5 in »xMY 195 (32 RM distance) — no gy
(i) Unless: he had 1 in »ma% (16 RM from each)
(b) Defense (581w for 27): read ®naon as 9 on each side — 1 in middle could join either to make 10
3 971 according to Y®nw, the shepherd himself or his tools could generate g%
(a) Question: is the sheep-dog considered a “place-holder” for the middle?
(i) Lemmal: since the sheperd can call him and he’ll come, not considered “shepherd’s place”
(if) Lemma2: sometimes he doesn’t respond to the call and the shepherd has to go there — q70%n - 1p'n
d  »71 the 179 divides flocks, such that those on the east side cannot be joined to those on the west
i pw 7 this is only in places where there is no bridge — but a bridge joins them - reason is separation
ii ~ Challenge: »1 ®naown — if he had sheep on both sides of the 179, or in two autonomous districts — no g1% — and
certainly if he had some in n and the rest in 587w yIR
1 Yet: 9" n to R is akin to a spot with a bridge (accessible) — rather...
iii 77 71 n™’s reason is per v. 2 — the 177 is defined as a border
1 Challenge: pna nYm (and others) is made up of all sorts of borders (v. 3) — yet these don’t divide for 2”yn
2 Answer: v. 4 defines all of Y87® IR as one area
(a) Challenge: if so, the 17 itself should be included
(b) Answer: v. 4 identifies yIR — not the river
iv  Note: according to 301’ '3, we understand why n™ singled out 177 — but, according to »nx "7, why did he do so? ®wp
v Proposal: the question of the status of the 177 is a dispute of m'xin
1 v5:nna 12 M 1 sees NXIR as excluding 177%; 7"aw1 — v. 6 juxtaposes J117:M DTV is part of (¥12
I Tangent: n"217 quotes 11Ny 9, identifying "177” as only south of nv n’a (just below n71)
a  For purposes of: nnna 1wyn (at what point does the 1717 divide flocks)
b Tangents: about headwaters of 177 (71 77 — see v. 7 — DY is identified as v»’na — or11)
¢ Tangent: about the status of the Euphrates among rivers (vv. 8-9)
d  Practicum: 21 ruled that the ma swells from rain in the west
i Contra: 9% who ruled that the river swells from its own banks (via aquifers)
ii ~ Note: YRnw's father made mxnpn for his daughters in spring, but told them to use n12 in fall, following a7
1 Explanation: according to 14, rain water (in spring) may outweigh spring waters — and ows 'n do not are not 1nvn
if they are moving, they must be gathered (mpn)
2 Note: YRnw contradicted his own position — as he allowed for n%7av in the ma — only in fall (213)
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